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four fractions, order of operations with brackets

Date: Score:

301
3B3+3+Z)x = =
(3+3+2)% 3

11
35(= + =)+ 5=
G+3)

12
56(= +2)+7=
G+3

I 13 2
—_— (= 1+ =)=
2 4(5 5)
1 3 1
—_F (= — =)=
2 (5 5)
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ERIrY I=a
= — four fractions, order of operations with brackets

Name: Date: Score:
1 21 1 83 3 1 29 4
533737 150 3373+ 3)x 5= 35 7%

1 1 5 1 1 49 9
6(2 3) 6 6 35(2 5) > 10 10

11 2 1 17 1 2
- )xZ4-=_L —+2)y=7=
G 23717 % N(3+3)FT7=8
11 3 1 1 13 2 1
=—=(zt-)=—= ——=(zt=2)=-
3 597771 7 3357573
2 1 2 1 1 33 1 37
10+1+=)x == — =5 —t+=(=—=)=—
(10 573735 773 573567375
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